Chapter 3 Homework
#3:   

int x;

int y;

	var
	type
	location
	value

	x
	int
	1000
	

	y
	int
	1010
	


int *p= &x;

int q*=&y;

	var
	type
	location
	value

	x
	int
	1000
	 

	y
	int
	1010
	 

	p
	ptr to int
	1020
	1000

	q
	ptr to int
	1030
	1010


*p=35;

*q= 98

	var
	type
	location
	value

	x
	int
	1000
	35

	y
	int
	1010
	98

	p
	ptr to int
	1020
	1000

	q
	ptr to int
	1030
	1010


*p=*q;    //How would this change with p=q?
	var
	type
	location
	value

	x
	int
	1000
	35  98

	y
	int
	1010
	98

	p
	ptr to int
	1020
	1000

	q
	ptr to int
	1030
	1010


cout <<x <<"  " <<y<<endl;                   98 98
cout <<*p <<"  " <<*q<<endl;               98 98

Alternate: p=q; instead of *p=*q;

	var
	type
	location
	value

	x
	int
	1000
	35

	y
	int
	1010
	98

	p
	ptr to int
	1020
	1010

	q
	ptr to int
	1030
	1010


cout <<x <<"  " <<y<<endl;                   35 98

cout <<*p <<"  " <<*q<<endl;               98 98

#4.
int x;

int y;

int *p= &x;

int q*=&y;
x=35;

y=46;
	var
	type
	location
	value

	x
	int
	1000
	35

	y
	int
	1010
	46

	p
	ptr to int
	1020
	1000

	q
	ptr to int
	1030
	1010


p=q

	var
	type
	location
	value

	x
	int
	1000
	35

	y
	int
	1010
	46

	p
	ptr to int
	1020
	1010

	q
	ptr to int
	1030
	1010


*p=78

	var
	type
	location
	value

	x
	int
	1000
	35 78

	y
	int
	1010
	46

	p
	ptr to int
	1020
	1010

	q
	ptr to int
	1030
	1010


cout <<x <<"  " <<y<<endl;                   78 46

cout <<*p <<"  " <<*q<<endl;               78 78
#6.
	var
	type
	location
	value

	p
	ptr to int
	1000
	1020

	q
	ptr to int
	1010
	1020

	*p
	int
	1020
	 46 39


#7. 

int *p;
int *q;
p= new int;

*p=43

	var
	type
	location
	value

	p
	ptr to int
	1000
	1020

	q
	ptr to int
	1010
	1020

	*p (1st new p) 
	int
	1020
	43


q=p;
	var
	type
	location
	value

	p
	ptr to int
	1000
	1020

	q
	ptr to int
	1010
	1020

	*p (1st new p) 
	int
	1020
	43


*q=52;
	var
	type
	location
	value

	p
	ptr to int
	1000
	1020

	q
	ptr to int
	1010
	1020

	*p , now *q
	int
	1020
	52


p=new int:

	var
	type
	location
	value

	p
	ptr to int
	1000
	1030

	q
	ptr to int
	1010
	1020

	*q 
	int
	1020
	43

	*p
	int
	1030
	


*p=78;

	var
	type
	location
	value

	p
	ptr to int
	1000
	1030

	q
	ptr to int
	1010
	1020

	*q 
	int
	1020
	43

	*p
	int
	1030
	78


q=new int;

	var
	type
	location
	value

	p
	ptr to int
	1000
	1030

	q
	ptr to int
	1010
	1020

	dangling 
	int
	1020
	43

	*p
	int
	1030
	78

	*q
	int
	1040
	


*q=*p;

	var
	type
	location
	value

	p
	ptr to int
	1000
	1030

	q
	ptr to int
	1010
	1020

	dangling 
	int
	1020
	43

	*p
	int
	1030
	78

	*q
	int
	1040
	78


cout <<*p<"  "<<*q<< endl;    78 78
#9.
int x;

int *p;
int *q;

p= new int[10]

	var
	type
	location
	value

	x
	int
	1000
	

	p
	ptr to int
	1010
	1030

	q
	ptr to int
	1020
	

	p[0]
	int
	1030
	

	p[1]
	int
	1040
	

	p[2]
	int
	1050
	

	p[3]
	int
	1060
	

	p[4]
	int
	1070
	

	p[5]
	int
	1080
	

	p[6]
	int
	1090
	

	p[7]
	int
	1100
	

	p[8]
	int
	1110
	

	p[9]
	int
	1120
	


q=p;

p*=q

	var
	type
	location
	value

	x
	int
	1000
	

	p
	ptr to int
	1010
	1030

	q
	ptr to int
	1020
	1030

	p[0]
	int
	1030
	4

	p[1]
	int
	1040
	

	p[2]
	int
	1050
	

	p[3]
	int
	1060
	

	p[4]
	int
	1070
	

	p[5]
	int
	1080
	

	p[6]
	int
	1090
	

	p[7]
	int
	1100
	

	p[8]
	int
	1110
	

	p[9]
	int
	1120
	


loop iteration 1 j=0
	var
	type
	location
	value

	x
	int
	1000
	4

	p
	ptr to int
	1010
	1040

	q
	ptr to int
	1020
	1030

	p[0]
	int
	1030
	4

	p[1]
	int
	1040
	4

	p[2]
	int
	1050
	

	p[3]
	int
	1060
	

	p[4]
	int
	1070
	

	p[5]
	int
	1080
	

	p[6]
	int
	1090
	

	p[7]
	int
	1100
	

	p[8]
	int
	1110
	

	p[9]
	int
	1120
	


loop iteration j=1
	var
	type
	location
	value

	x
	int
	1000
	4

	p
	ptr to int
	1010
	1050

	q
	ptr to int
	1020
	1030

	p[0]
	int
	1030
	4

	p[1]
	int
	1040
	4

	p[2]
	int
	1050
	5

	p[3]
	int
	1060
	

	p[4]
	int
	1070
	

	p[5]
	int
	1080
	

	p[6]
	int
	1090
	

	p[7]
	int
	1100
	

	p[8]
	int
	1110
	

	p[9]
	int
	1120
	


loop iteration j=2
	var
	type
	location
	value

	x
	int
	1000
	7

	p
	ptr to int
	1010
	1060

	q
	ptr to int
	1020
	1030

	p[0]
	int
	1030
	4

	p[1]
	int
	1040
	4

	p[2]
	int
	1050
	5

	p[3]
	int
	1060
	7

	p[4]
	int
	1070
	

	p[5]
	int
	1080
	

	p[6]
	int
	1090
	

	p[7]
	int
	1100
	

	p[8]
	int
	1110
	

	p[9]
	int
	1120
	


... 

output: 4 4 5 7 10 14 19 25 32 40
#10.

	var
	type
	location
	value

	secret
	ptr to int
	1000
	 

	j
	int
	1010
	 

	secret[0]
	int
	1030
	 10

	secret[1]
	int
	1040
	15

	secret[2]
	int
	1050
	

	secret[3]
	int
	1060
	

	secret[4]
	int
	1070
	

	secret[5]
	int
	1080
	

	secret[6]
	int
	1090
	

	secret[7]
	int
	1100
	

	secret[8]
	int
	1110
	

	secret[9]
	int
	1120
	

	j
	int
	1130
	1


iteration 2

	var
	type
	location
	value

	secret
	ptr to int
	1000
	 

	j
	int
	1010
	 

	secret[0]
	int
	1030
	 10

	secret[1]
	int
	1040
	15

	secret[2]
	int
	1050
	20

	secret[3]
	int
	1060
	

	secret[4]
	int
	1070
	

	secret[5]
	int
	1080
	

	secret[6]
	int
	1090
	

	secret[7]
	int
	1100
	

	secret[8]
	int
	1110
	

	secret[9]
	int
	1120
	

	j
	int
	1130
	2


